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14.

15.

16.

\w,w/“ An interest rate of

e

19,

20.

21,

On Gladys's 215t birthday, she invested $4500 in an account that earns

6.5% interest, compounded semi-annually. On her 315t birthday, she moved her
Investment to an account that paid 6.8% interest, compounded monthly. On her
41t birthday, the account will be worth §_ , 10 the nearest cent.

Larry invests 2 sum of money for 10 years at 5.25% intetest, compounded
quarcerly. The future value of the investment is $200 000, The interest earned
is$
Jason plans to retire in 25 years, when he is 60. He estimates that he will
need $450 000 to supplement his company pension, invested at 4% interest,
compounded quarterly. To meet his goal, he should invesc §

» 1o the nearast cent,

now, to the nearest cent,

%, compounded annually, will make annual
paymenss of $6500 grew to $2 000 600 in 40 years. Round your answer o
the nearest hundredth of a percent.

Te will rake years, to the nearest tenth, for monthly payments of $235 ro
graw to mote than 350 000 ar an interest rate of 8.3%, compounded monthly.

Karim is planning to buy new futniture in 2 years. He intends to spend $5000.
He has $4000 to invest in an account that compounds interest monthly. The
rate of incerest that Karim will need in order to meer his goal is %, to

the nearest rench.

Pip has inherited a large sum of money, He does not want to retire now, but
he hopes to retire in 20 years with $1 500 000 in the bank. Suppose Pip earns
7.4% interest, compounded quarterly, on his investmencs, To the nearest cent,

Pip needs ro invesc $ now to retire in 20 years.

Ahzb is saving up to buy a new fishing boat. He invests $25 000 at 4.25%
interest, compounded monthly, for 5 years. His rate of return will be
%, to the neatest tenth,

\Wm This portfolio was started 5 years ago.

* quarterly depesits of $750 into an account earning 3.27% interest,
compounded quarterly

* 2 5-year 315 000 investment averaging 7.1% interest, compounded annually

Ies current value, to the nearest cent, is §, .

WA This portfolio was started 8 years ago.

32  Chopler? Test

= monehly deposits of $280 into an account earning 3.15%, compounded monchly
* an 8-year $3200 investment averaging 5.2% interest, compounded annually

The portfolio’s current rate of return is %, to the nearest tenth of a

percent,

Copyright & 2012 by Nelson Education Ltd.

Q3: = The fumzs value of an investment with n segular deposiss of payments
is che sum of all the payments or deposits plus the accumulaced
incesest:

A=RE+ " H R4 2+ B0+ I+ RO P+ o+ Gl Y

Q4: » A porfolio can have differenc types of lnvestments, suck a3 single-
payment investments like CSBs and GICs and/or investments
involving regular paymenss,

* Portfolics earn more intrsar when the teem Is longer, che principal is
sompounded more often, aad/or the interest mate is higher. You can use
£are of ferurn to compare investment porcfolios.

Chapter 1 Test, page 30

1. B 2, C 3 A 4, A 5 D
6. A 7. B 8 D o D

10, q) 32430 b) #5430 <) 81%
1. a) dyears b) 25%

12, 54271

13, $11070.00; $11 002.62; 367.38

14, 3680739

15, §B1284.15
16, $155 370,05
17. 8.65%

18, 10.9 yeass
19, 7.5%

20, 3346 105.57
21, 23.6%

22, $37 360.89
23, 174%

Z4. 3 yews

25.  Bob invested $3.84 more.
26, 35793.37
27, 12.5%

Chapter 2
Getting Started, page 34

1. a) i) b} i} e i) d} ) g i

%, a) §7.15 b) $1102 o) 51643

3 5)d) 317025 4 52025 B) 55000 o) 25%

4. &) $17117.50; $2117.50 b} $1800 o 37
months d) 2.6%

5. a) §1876.14; 576,14 b) $275 <} 40 weeks 4) 3.7%

Lesson 2.1, page 36

1. &) 844820 b)) $146.20
2, a) $2354,13 b) 5i54.13
2. &) 82702739

b) i) less; e.g., because more of the princlpal is pald off sooner;

23 82384
) moret ¢.5. because the pelncipal is paid off later 534 784,76

4. a) $28033.19 b} 51966.81

D

6. loan Y; .z, because ivwill cost $1359.81 — $1131,50 or §228.31 loss.
even though it takes | year longer to pay off

Lesson .2, page 4¢

1. a) store: $4325.1%; bank: $4192.93
b) store: $325.11; bank: $192,91
<) store 13 months; bank: 12 months
d} bank, since it will cost $132.20 Joss
2. 5 monchs, $1300.87, $31.29, $1269.58; $ months, §1294.25;
Card Gold
3. A

Copyright © 2012 by Nelson Education Ltd.

Lesson 2.3, page 42

1. a) §11B59 5 5§ 813,53 1) $5.06
2. a) $315.96;§7583.10
b) $231.05; $8317.84
o} e.g., dealen pay less in total, bur monthly paymeass are higher; banle
Pay more Iu toral, bue monthly payments are less
3. Option B will cost Jess.
¢.8., With Optlea A, the monthly payments will be $176.20 for a 1o
payment of §1402.62. With Option B, the monthly paymencs will be
$184.73 for a total payment of §1477.84,
&) As 5254.69; B: $248.39 b} A: $137.81; B: $81.14
5 o) llmonchs k) S7LB1 o) $4274
6. disagres; o.g., Line of eredin monthly payments will be $973.41, for
a toral payment of $5840.46. Credit card: monthly paymencs will be
$964.91, for a toral payment of $5789.49. Rico should use the credic
card since it costs bess,
7. a) 57 monchs; 59 months
b} line of eredi e.g., Ling of oredin total payment will be $2845.59,
including §428.59 in inrerest. Credit card: toral payment will be
$3532.91, including 3111191 in interest,
<} Line of eredic: $209.57; Credic card: $220.01

&

Lessan 2.4, page 46

%, a} &g, Rentinga room for 6 months would cost 180 - $80 or $9000.
Leasing an zpartment would cost 6 + $1250 or §7500. Howeves,
Calvin will need & large sum of money to pay up front for the
aparmnent, .
b} .., I would Jease the aparement because it costs fess, and dhe facilicies
are about the same. 1am assuming he has the money needed to pay
For the up-front cosss associared with this optien. If he doesnt, then
he would have to rent the room at the hotel.
2. 1) leasing: 3 - ($6B06 -+ $2400 + $215) = $28 563;
purchase: $24 000 + $6000 + $1200 = $31 200
b} &g, Leasing is bewer because it will opst less and the equipmens will
be worchless after 3 years anyway,
3. a) rent: 14 - 360 = $840; buy: $1500;.centing 1s mote economical
b} rent: 30 + 550 = $1800; buy: Emoom.u&.wnm is ore cconomical
& e, renc, because this costs less, cven if there is a slight overrun on time
) 3659178 B) 19 years
a} $7538.63; $6500
b} e.g., If Elvita buys the bikes, she can use chem for 4 years, at 2 cosc of
$1834.66 pet year, If she leasss them, i will cost $3250 per year for
2 years, and then she will need to lease them again, T will zost less o
buy the bikes.
7. a) Jacksan paid $46 980.80 more than Ronaie
&) Jackson made the wiser decision, because he has the squity of his
down paymenr and the principal thac he has pald off,
8. a} Luba paid $8605.54 more than Jamis
b) Luba made the wiser decision, because she has the equlcy of her down
payment and the ptincipal that she has paid off,

L

Chapter 2 Test Prep, page 51

Q1 AT When a loan involves a single paymeng ax the end of the rerm, che
same formulas thar apply to inveccment sitarions can be used,

AZ: An amossization wble is 2 schedule for 2 loan with cegular
RAYIIEANS. It <an be created with spreadsheer sofrware, and showes
derzfls such as the total amount of interest paid over the course of
paying off the loan,

A3 A financial applicacion on z caleulasor can be used 1o d ine the
unknowi vagsble in 2 compound intersst loan problem. It can also
be used wo investigure "what-if” si chat involve [ i
money.
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